NOTICE OF BID AWARD

August 27, 2015

Superior Lubricants Co. Inc. (VN0000002940) Phone: 800-638-1887

32 Ward Road <u>cjobrien@superiorlubricants.com</u>

Tonawanda, NY 14120

Attn: Chris O'Brien

This shall advise you that on August 26, 2015 the Board of Acquisition and Contract accepted your bid for furnishing the following to Broome County:

Bid Title: Motor & Hydraulic Oils, Greases & Lubricants

Bid #: 2015-071 CA #: 11-2074(a)

Term: 9/1/2015 to 8/31/2017

Renewals: One optional one year renewal thru 8/31/2018

Purchase order(s) will be forthcoming upon receipt of a certificate of insurance in compliance with the insurance requirements as stated in the specifications. **Incorrect insurance certificates will cause delays in payment.**

If you have not submitted the proper insurance certificate, please send/fax a copy to Robert Murphy, Risk Manager, Broome County Office of Risk Management, County Office Building, 3rd Floor, 60 Hawley Street, P.O. Box 1766, Binghamton, NY 13902-1766. Phone: (607) 778-2402 Fax #: (607) 778-6009

IMPORTANT: Please include the *bid title* and *bid number* on the insurance certificate.

Very truly yours,

John A. Flynn

Director

JAF: ksu Attachment(s)

C: Dan Schofield, Commissioner of Public Works

Rich Hand, Landfill

John J. Flynn , Jr.

Kaye Hall, Landfill

Mike Davel, En Joie Golf Course

Mike Deuel, En-Joie Golf Course

Keith Wittig, DPW Harry Miller, DPW Anita Martin, DPW

Jeremy George, Parks Lori Darling, Parks Matt Fogarty, Transit Political Subdivisions

Brian Keefer, Transit Joe Hektor, Aviation Jen Lasher, Aviation Tom Armstrong, Highway John Sullivan, Highway Mike Mangan, Highway Purchasing - Bid File Michelle Edwards, Risk

MOTOR AND HYDRAULIC OILS, GREASE AND LUBRICANTS BID TABULATION

		1		St	JPERIOR .			
ITEM #	Item Description	Unit of Measure	Vendor Part #		nit Price	Est. Qty.	Exte	ended Total
	Engine Oil - Multi-grade - SAE							
_ 1	5W30 High Detergent	Per Gallon - Bulk	330133B	\$	4.66	0	\$	•
		Per Quart	330133C	\$	1.85	72	\$	133.20
		Per 55 Gallon Drum	330133D	\$	297.00	. 1	\$	297.00
	Engine Oil - Multi-grade - SAE							
2	10W30 High Detergent	Per Gallon - Bulk	330136B	\$	4.62	0	\$	-
		Per Quart	330136C	\$	1.84	144	\$	264.96
		Per 55 Gallon Drum	330136D	\$	294.80	1	\$	294.80
	Engine Oil - Multi-grade - SAE							
3	10W40 High Detergent	Per Gallon - Bulk	330135B	\$	4.77	0	\$	-
		Per Quart	330135C	\$	1.83	192	\$	351.36
:		Per 55 Gallon Drum	330135D	\$	303.60	1	\$	303.60
l .	Engine Oil - Multi-grade - SAE			١.				
4	15W40 High Detergent	Per Gallon - Bulk	331309B	\$	5.77	500	\$	2,885.00
		Per Quart	331309C	\$	2.13	72	\$	153.36
ļ		Per 55 Gallon Drum	331309D	\$	357.50	1	\$	357.50
_	Engine Oil- Diesel & Gasoline-			١.				
5	SAE 15W40	Per Gallon - Bulk	331309B	\$	5.77	2700	\$	15,579.00
		Per Quart	331309C	\$	2.13	48	\$	102.24
	Empire Oil Otrestalet M. 1. 1.	Per 55 Gallon Drum	331309D	\$	357.50	2	\$	715.00
	Engine Oil- Straight Weight-	Day Callan Bulls	0040000			_		
6	SAE 30	Per Gallon - Bulk	331303B	\$	5.40	0	\$	
		Per Quart	550019903	\$	3.56	96	\$	341.76
	Engine Oil Otroight Weight	Per 55 Gallon Drum	550019856	\$	697.95	1	\$	697.95
7	Engine Oil- Straight Weight- SAE 40	Day Calley Bulls	2040045					
· · · · · · · · · · · · · · · · · · ·	SAE 40	Per Gallon - Bulk Per Quart	331304B	\$	5.57	0	\$	- 40.70
, .			550019904	\$	3.56	12	\$	42.72
	Engine Oil- Straight Weight-	Per 55 Gallon Drum	550019860	\$	697.95	1	\$	697.95
8	SAE 50	Per Gallon - Bulk	TUDEOD		0.04	_		
- 0	JAL 30	Per Quart	THD50B THD50P	\$	6.21	0	\$	- 00.70
		Per 55 Gallon Drum		\$	1.98	12 2	\$	23.76
	Engine Oil- Synthetic Blend	Per 55 Gallon Druin	1515DR	 	391.05	2	ф.	782.10
9	Multi-grade- 5W20	Per Gallon - Bulk	330132B	,	4.66			
	Walti-grade- 57720	Per Quart	330132C	\$ \$	4.66 1.82	0 72	\$	131.04
		Per 55 Gallon Drum	330132D	\$	297.00	12	\$	297.00
	Engine Oil- Synthetic Blend	1 Cr 95 Gallon Druin	0001020	Ψ_	297.00		Ψ	297.00
10	Multi-grade- 5W30	Per Gallon - Bulk	330133B	\$	4.66	500	•	2,330.00
	Walt glade evvee	Per Quart	330133C	\$	1.85	72	\$ \$	133.20
		Per 55 Gallon Drum	330133D	\$	297.00	0	\$	100.20
	Engine Oil- Full Synthetic Multi-	1 or oo danon Brain	0001000	+Ψ	237.00	U	Ψ	-
11	grade- 5W20	Per Gallon - Bulk	330210B	\$	6.35	0	\$	_
	9	Per Quart	330210C	\$	2.39	0	\$	
		Per 55 Gallon Drum	330210D	\$	392.15	1	\$	392.15
	Engine Oil- Full Synthetic Multi-			+*-	552.10		4	002.10
12	grade- 5W30	Per Gallon - Bulk	330211B	\$	6.35	0	\$	_
		Per Quart	330211C	\$	2.38	60	\$	142.80
		Per 55 Gallon Drum	330211D	\$	7.13	0	\$	2.50
	Engine Oil- Diesel CJ-4- SAE			† *			_	
13	10W30	Per Gallon - Bulk	331330B	\$	5.98	1500	\$	8,970.00
		Per Quart	550019906	\$	3.77	0	\$	-
		Per 55 Gallon Drum	331330D	\$	369.60	1	\$	369.60
	Engine Oil- Class SE for Bobcat			 				
14	SAE 10W30	Per Gallon - Bulk	330136B	\$	4.62	0	\$	-
		Per Quart	330136C	\$	1.84	72	\$	132.48
		Per 55 Gallon Drum	330136D	\$	294.80	0	\$	-
15	Engine Oil- Cam2- SAE 5W20	Per Quart	40812	\$	2.03	72	\$	146.16
		Per 55 Gallon Drum	2050DR	\$	475.20	1	\$	475.20
	Hydraulic Oil- Tractor Hyrdraulic			1			<u> </u>	
16	Fluid- Multi-Grade	Per Gallon - Bulk	331953B	\$	4.78	1500	\$	7,170.00
		Per 55 Gallon Drum	331953D	\$	303.60	6	\$	1,821.60

MOTOR AND HYDRAULIC OILS, GREASE AND LUBRICANTS BID TABULATION

4.0

<u></u>	1			SI	JPERIOR			· ·
ITEM #	Item Description	Unit of Measure	Vendor Part #		Jnit Price	Est. Qty.	Exte	ended Total
	Hydraulic Oil- Antiwear- 32							
17	Viscosity	Per Gallon - Bulk	334227B	\$	3.58	750	\$	2,685.00
		Per 55 Gallon Drum	334227D	\$	237.60	11	\$	237.60
	Hydraulic Oil- Antiwear- 46				0.04			
18	Viscosity	Per Gallon - Bulk	334229B	\$	3.64	0	\$	404.00
10	Discal Fish and Fluid	Per 55 Gallon Drum	334229D	\$	240.90	2	\$	481.80
19	Diesel Exhaust Fluid	Per Gallon - Bulk	TDEF32C	\$	2.64	5	\$	13.20
		Per 55 Gallon Drum	TDEF32D	\$	121.55 349.25	2	\$	243.10 349.25
	Cunthatia Universal Automatia	Per 275 Gallon Drum	TDEF32B	<u>ф</u>	349.25	. !	Ф	349.25
20	Synthetic Universal Automatic	Per Gallon - Bulk	20012	φ.	2.25	200	•	650.00
20	Transmission Fluid	Per 5 Gallon Pail	29812 330025D	\$ \$	3.25 45.15	200	\$	650.00 903.00
, 		Per 55 Gallon Drum	330025B	\$	456.50	7	\$	3,195.50
	Synthetic Transmission Oil- SAE		3300230	Ψ	450.50		Ψ	3,193.50
21	#50	Per 5 Gallon Pail	337205P	\$	74.50	10	\$	745.00
	#50	Per 55 Gallon Drum	337205D	\$	769.45	6	\$	4,616.70
	Automatic Transmission Fluid-	rei 33 Gallott Diditi	337203D	Ψ	703.40		Ψ	4,010.70
22	Plus 4 / ATF + 4	Per Quart	3320223C	•	2.79	36	•	100.44
- 44	I IUS T/ ATF T T	Per 5 Gallon Pail	332023P	\$ \$	47.85	2	\$	95.70
	Automatic Transmission Fluid-	r 67 5 GAHOIT FAII	UULULUF	$+^{\Phi}$	47.00		Ψ	50.70
23	Mercon LV	Per Quart	PVTS076	\$	2.66	36	\$	95.76
	Welcon LV	Per 5 Gallon Pail	330030P	\$	48.35	2	\$	96.70
		Per 55 Gallon Drum	330030P	\$	482.35	5	\$	2,411.75
24	Transmission Fluid- Dexron VI	Per Quart	PVTS076	\$	2.66	72	\$	191.52
	Transmission Fluid- Dexion VI	Per 5 Gallon Pail	330030P	\$	48.35	10	\$	483.50
		Per 55 Gallon Drum	330030P	\$	482.35	1	\$	482.35
	Automatic Transmission Fluid	rei 33 Gallott Diutti	330030D	Ψ.	402.00		Ψ	402.00
	Cam2 Full Synthetic for Gillig							
25	(Voith spec)	Per 55 Gallon Drum	C298D	\$	453.75	2	\$	907.50
	Automatic Transmission Fluid-	Fel 33 Gallott Diutil	02300	Ψ	400.70		Ψ	907.50
26	Mobil 1 DELVAC	Per Quart	550033054	\$	8.80	36	\$	316.80
	WIODII I DELVAC	Per 55 Gallon Drum	550032968	Ψ	1,514.70	5	\$	7,573.50
	Transmission Oil (Cat T.D.T.O.	l el 33 dallon Bruin	33000Z300	Ψ	1,014.70		Ψ	7,070.00
27	30 W	Per 5 Gallon Pail	331930P	\$	38.50	4	\$	154.00
	Transmission Oil (Cat T.D.T.O.	r cr o dallorr all	0010001	$+^{\Psi}$	00.00	<u> </u>	Ψ-	104.00
28	50 W	Per 5 Gallon Pail	331950P	\$	40.15	4	\$	160.60
29	Gear Lube- SAE 80W90	Per 400 Lb. (55 Gallon) Drum	332105DR	\$	415.80	4	\$	1,663.20
	GCC. EGDE GAE GOVIGE	Per 120 Lb. (16 Gallon) Drum	332105KG	\$	135.52	4	\$	542.08
		Per 35 Lb. (5 Gallon) Pail	332105PL	\$	42.65	5	\$	213.25
		l or oo Es. (o danon) i an	002,001,2	Ψ	12.00		Ψ.	210.20
30	Gear Lube Limited Slip 80W90	Per 16 Gallon Drum	332110KG	\$	142.56	6	\$	855.36
	Synthetic Gear Lube- SAE	. or to dailon brain	302.1010	Ψ	. 12.00		+	555.55
31	80W140	Per 400 Lb. (55 Gallon) Drum	337202D	\$	861.85	7	\$	6,032.95
		Per 200 Lb. (16 Gallon) Drum	337202K	\$	263.52	15	\$	3,952.80
		Per 35 Lb. (5 Gallon) Pail	337202P	\$	82.65	5	\$	413.25
	Synthetic Gear Oil- SAE			+*	52.00	†	1	
32	75W140	Per Quart	PHGS776	\$	31.35	36	\$	1,128.60
<u> </u>	1	Per 5 Gallon Pail	337203P	\$	114.00	4	\$	456.00
	Chassis Lube Grease- Full		1	+		<u> </u>	<u> </u>	.50.00
33	Synthetic	Per 55 Gallon Drum	550036225	.	3,134.88	2	\$	6,269.76
	Synthetic Axle Lubricant -			Ψ-	o, . oo	-	+	2,200.70
34	75W90	Per 400 Lb. (55 Gallon) Drum	337201D	\$	673.20	1	\$	673.20
<u> </u>		Per 120 Lb. (16 Gallon) Drum	337201K	\$	210.08	3	\$	630.24
		The second secon		+*			 •	000,51
35	Shell Retinax LX2 or equivalent	Per 400 Lb. (55 Gallon) Drum	550027637	\$	1,063.48	0	\$	
	State Hoteland Bridge of Order dione	Per 120 Lb. (16 Gallon) Drum	550026854	\$	305.34	4	\$	1,221.36
		Per oz. Tube	550027558	\$	2.65	200	\$	530.00
_	High Temperature Bearing	32, 1000		+*			+	000.00
	Grease Shell Retinax LC2 or							
36	equivalent	Per 400 Lb. (55 Gallon) Drum	550027637	\$	1,063.48	5	\$	5,317.40
		Per 120 Lb. (16 Gallon) Drum	550026854	\$	305.34	14	\$	4,274.76
		Per 35 Lb. (5 Gallon) Pail	550026853	\$	108.72	0	\$	-,
		Per oz. Tube	550027558	\$	2.65	900	\$	2,385.00
<u> </u>			12000-	Ψ		1 500	, ¥	_,500.00

MOTOR AND HYDRAULIC OILS, GREASE AND LUBRICANTS BID TABULATION

				SU	PERIOR			
ITEM#	Item Description	Unit of Measure	Vendor Part #	U	nit Price	Est. Qty.	Ext	ended Total
	Antifreeze- Not Premixed-					•		
37	Green Concentrate	Per Gallon	FFA003	\$	7.73	12	\$	92.7
		Per 55 Gallon Drum	990DR	\$	408.10	6	\$	2,448.6
	Antifreeze- Concentrate					-		
	(preferred) or Premixed with			l				
	SCA's- Requires a filter to							
38	maintain SCA's	Per Gallon	FCA003	\$	8.47	10	\$	84.7
		Per Gallon- Bulk	FTA00B	\$	7.79	250	\$	1,947.5
		Per 55 Gallon Drum	FTA00DR	\$	453.20	4	\$	1,812.8
	Antifreeze- Concentrate			1				
	(preferred) or Premixed with							
	SCA's- Does not require a filter		•				١.	
39	to maintain SCA's	Per Gallon	FXA003G	\$	13.63	10	\$	136.3
		Per Gallon- Bulk	FXAR08B	\$	13.08	250	\$	3,270.0
		Per 55 Gallon Drum	FXA00D	\$	760.10	4	\$	3,040.4
40	Brake Fluid- DOT 4	Per Quart	GS720	\$	5.02	36	\$	180.7
		Per Gallon	GS720	\$	20.08	2	\$	40.1
41	Snowplow Hydraulic Oil	Per Quart		\$	5.68	72	\$	408.9
	Exxon Mobil Univis HVI 26-							
42	Braun wheelchair lift oil	Per Gallon	76957	\$	19.81	5	\$	99.0
43	Power Steeling Fluid	Per Quart	2932	\$	3.18	36	\$	114.4
		Per Gallon	2932	\$	12.72	5	\$	63.60
` 44	Synthetic Compressor Oil	Per Quart	DSL100P	\$	10.07	36	\$	362.52
•	·	Per Gallon	DSL100P	\$	40.28	2	\$	80.50
	Windshield Washer Fluid Must			T.,	·		<u> </u>	
45	be -40 degree	Per Gallon Bulk	950B	\$	1.19	500	\$	595.0
		Per 55 Gallon Drum	950DR	\$	92.95	7	\$	650.6
46	Penetrating Oil- P-B Blaster	Per Spray Can	BLASTER	\$	3.62	36	\$	130.3
		Per Gallon	BLASTER	\$	42.12	2	\$	84.2
								405 007 0
				1		1	\$	125,927.2

BROOME COUNTY DIVISION OF PURCHASING PROPOSAL SHEETS

Multiple brand names and manufacturers per Chuck Ellsworth.

Notice: Failure to correctly fill in all spaces with what is asked for including BRAND NAME offered and MANUFACTURER or failure to include requested information and/or specifications may result in the bidder/contractor's bid being indicative of non-responsibility and not being given further consideration.

NOTICE: ONLY ONE (1) BRAND NAME AND THE MANUFACTURER WILL BE PLACED IN EACH "ITEM" CATEGORY. BIDDER MUST BID <u>ALL</u> ITEMS AND ALL QUANTITIES TO BE CONSIDERED A RESPONSIVE BID. WHERE THERE IS 0 ESTIMATED QUANTITY A UNIT PRICE MAY BE ADDED BUT NO TOTAL PRICE

Item <u>#</u>	<u>Description</u>	Unit <u>Price</u>		Estimated <u>Quantity</u>	Estimated <u>Total</u>
1.	Engine Oil – Multi-grade – SAE 5W30 High Detergent				
	ا الا کا کا کے چ	\$ 4,66	x	0	\$
	330133C Per Quart:	<u>\$ 1.85</u>	X	72	\$ <u>133, 20</u>
	330133D Per 55 Gallon Drum:	\$ 297,00	X	1	s 297.00
	Brand Name & Manufacturer offered:	ult - Gu	K,	Pride	

2.	Engine Oil – Multi-grade -	- SAE 10W30 High				
	Detergent 330/36B	Per Gallon - Bulk:		X	0	\$ <u>-</u>
	330136C			X	144	\$ <u>264.96</u>
	330136D	Per 55 Gallon Drum:	\$ 294.80	X	1	\$ <u>294.80</u>
	Brand Name & Man	ufacturer offered:	3-41f-61	ı/ C	Pride	

3.	Engine Oil – Multi-grade –	SAE 10W40 High				
	Detergent 3 30135B	Per Gallon - Bulk:		X		\$ <u></u>
	330135C	Per Quart:	\$ 1.83	X		\$ <u>351,36</u>
	330135D	Per 55 Gallon Drum:	\$ 303,60	X	1	\$ <u>303,60</u>
			- 1- 1	7	0 01 1	0 1

Brand Name & Manufacturer offered: Gulf-Gulf Motor Oil

Item #	<u>Description</u>	Unit <u>Price</u>		Estimated Quantity	Estimated <u>Total</u>
4.	Engine Oil – Multi-grade – SAE 15W40 High Deterger		X	500	\$ 2,885,00
	331309C Per Quar	: \$ Z,13	X	72	\$ 153,36
	331309D Per 55 Gallon Drun	s <u>35 7,</u> 50) x	1	\$ 357,50
	Brand Name & Manufacturer offered:	1600	_ , Λ	1	
	Brand Name & Manufacturer offered:	-u/t - >4p	er ()	ury	
5.	Engine Oil – Diesel & Gasoline – SAE 15W40				\$/5,579.°
5 .	Engine Oil – Diesel & Gasoline – SAE 15W40 33/309B Per Gallon - Bulk 33/309C Per Quar	: \$ <u>5,77</u> :: \$ <u>2,13</u>	X	2,700 48	\$ <i>[5,579.0</i> \$_102.24
5.	Engine Oil – Diesel & Gasoline – SAE 15W40 3 3 / 30 9 B Per Gallon - Bull	:: \$ <u>5,77</u> :: \$ <u>2,13</u>	X	2,700	\$ 102,24 \$ 715,00

6.	Engine Oil – Straight Weight –	SAE 30				
	331303B	Per Gallon - Bulk:	\$ 5,40	х	0	\$ <u>~</u>
	550019903	Per Quart:	\$ 3,56	X	96	\$ 341.76
	550019856	Per 55 Gallon Drum:				\$ <u>697.45</u>
	Brand Name & Mar	nufacturer offered: スナル	K is Gulf-S andDrug is S	up. he	erbuty 11-Rote	119

7.	Engine Oil – Straight Weight	항상 발표를 받는 가능한 글로 하지 않는다.				
	331304B	Per Gallon - Bulk:	\$ <u>5,57</u>	X	0	\$_ <i></i>
	550019904	Per Quart:	\$ <u>3.56</u>	X	12	\$ <u>42.72</u>
	550019860	Per 55 Gallon Drum:				\$ 697.95
	Brand Name & M		IL is Gult-			

Item #	Description		Unit Price		Estimated Quantity	Estimated Total
8.	Engine Oil – Straight Weigh	t – SAE 50				
	THD50B	Per Gallon - Bulk:	\$ 6,21	x	0	\$ -0
	THD50 P	Per Quart:	\$ 1.98	x	12	s Z3,76
	1515.DR	Per 55 Gallon Drum:	\$ 391,05	$\left \mathbf{x} \right $	2	\$ <u>782.10</u>
	I. Brand Name & N	Manufacturer offered: Bul	L - Tuxton - Tuxton HDS IM - CAMZ	H.O.S 70 17	o 5 gallun f 1 50	

9.	Engine Oil – Synthetic Blend	Multi-grade – 5W20					
	330132B	Per Gallon - Bulk:	\$ 4,66	x	0	\$_	0
	3301326	Per Quart:	s_1,82	х	72	\$_	131.04
	330 13 2D	Per 55 Gallon Drum:	\$ 297,00	X	1	\$_	297,00
	Brand Name & M	anufacturer offered: 6	ı ult-Gult	PI	ide		

10.	Engine Oil – Synthetic Blend M		11 7 7			- 276 AG
	330/33C	Per Gallon - Bulk: Per Quart:	\$ <u>4.66</u> \$ <u>1.85</u>	X		\$ <u>Z,330,00</u> \$ 133, 20
	330133.D	Per 55 Gallon Drum:	\$ <u>297.00</u>	X	0	\$_ _
	Brand Name & Man	ufacturer offered:	ulf-Gul	61	Pride	

11.	Engine Oil – Full Synthetic Mu	ılti-grade – 5W20							
	330210B	Per Gallon - Bulk:	\$ 6,35	X	0	\$_ <i>&</i> _			
	330210C	Per Quart:	\$ <u>2,39</u>	X	0	s &			
	330Z10D	Per 55 Gallon Drum:	\$ 392,15	X	1	\$ <u>392.15</u>			
Brand Name & Manufacturer offered: Gulf - Gulf TEC									

Item #	Description	Unit Price		Estimated Quantity	Estimated Total
12.	Engine Oil – Full Synthetic Multi-grade – 5W30				
	330211B Per Gallon – Bulk:	\$ 6.35	X	0	\$ -
	330211C Per Quart:	\$ 2,38	X	60	\$ 142.80
	330211D Per 55 Gallon Drum:	\$ 7.13	X	0	\$_ <i>O</i>
	Brand Name & Manufacturer offered:	ulf-Gulf	² <u> </u>	EC	
l 3 ,	Engine Oil – Diesel CJ-4 – SAE 10W30				
	331330 B Per Gallon – Bulk:	\$ <u>5, 98</u>	X	1500	\$ 8,970,00
	550019906 Per Quart:	\$ 3,77	X	0	\$
	331330D Per 55 Gallon Drum:	\$369.60	x	1	\$ 369.60
	Brand Name & Manufacturer offered:	Kand Drum - Shell - Rut	Gu	118-5up. 19	er Outy
4					
l 4.	Engine Oil – Class SE for Bobcat – SAE 10W30 3301368 Per Gallon – Bulk:	\$ <u>4,62</u>	X	0	s <i>-6</i>
	330136C Per Quart:	<u>\$ 1,84</u>	X	72	\$ 132,48
	330136D Per 55 Gallon Drum:	1	X	0	\$_ <i>-</i>
	Brand Name & Manufacturer offered:	ulf-Gult	P	ride	
l 5 .	Engine Oil – Cam2 – SAE 5W20				
	Ÿ0812 Per Quart:	\$ <u>Z, 03</u> \$ <u>475, 20</u>	X	72	s 146.16
	2050DR Per 55 Gallon Drum:	\$ 475,20	X	1	\$ <u>475,</u> 20
	Brand Name & Manufacturer offered: CA	MZ Syperf,	ro 1	Max	
6.	Hydraulic Oil – Tractor Hydraulic Fluid – Multi-Grade				
	33/953B Per Gallon – Bulk:	\$ <u>4.78</u>	X	1,500	\$ 7,170.00
	331963 D Per 55 Gallon Drum:	\$ 303,60	X	6	\$ 7,170.00 \$ 1,821.60
	14、各种,各种的特别,因为14、产品的,一种的,是一种的,是15、产品的产品的产品的产品的产品的,并不是15分别的,不是15分别。	1	5 5 L	The American Street of the	

Guaranteed delivery within 5 business days of order. Motor & Hydraulics, etc. -18

Item #	Description		Unit Price		Estimated Quantity	Estimated Total
17.	Hydraulic Oil – Antiwear – 3 334227B	\$ <u>3,58</u>	x	750	\$ <u>Z,685,00</u>	
	334227D	Per 55 Gallon Drum:	\$237,60	X	1	\$ 237,60
	Brand Name & M	Ianufacturer offered:	-ult - Ha	fN	nony	
18.	Hydraulic Oil – Antiwear – 4 33 4229B		\$ 3,64	X	0	s_ <i>O</i>
	33Y229D	Per Gallon - Bulk: Per 55 Gallon Drum:	\$ 240,90	X	2	\$ <u>481.80</u>
	Brand Name & M	Ianufacturer offered:	-ult-Ha	rn	iony	
19.	Diesel Exhaust Fluid 7DEF32C	Per Gallon:	\$ Z.64	X	5	\$ 13,20
	TDE F32D	Per 55 Gallon Drum:	<u>\$ 121,55</u>	X	2	\$ 13,20 \$ 243,10
	TDEF32B	Per 275 Gallon Tub:	\$ 349.25	x	1	\$ 349,25
	Brand Name & M	Ianufacturer offered: Tu	ixton - Bl	ye.	DEF	
20.	Synthetic Universal Automat	ic Transmission Fluid				
	29812	Per Quart:	\$ <u>3.25</u>	x	200	\$ 650,00
	330025D	Per 5 Gallon Pail:	\$ <u>45,15</u>	X	20	\$ <u>650,00</u> \$ <u>903.00</u>
	330025B	Per 55 Gallon Drum:	\$ <u>456, 50</u>	X	7	\$ <u>3,195,50</u>
	Brand Name & M		- Cam Z Full. 1 + Pail - Gulf			hicle ATF H-Vehicle ATF
21.	Synthetic Transmission Oil – 337205P	SAE #50 Per 5 Gallon Pail:	\$ 74.50	X	10	\$ 745,00
	337205D	Per 55 Gallon Drum:	\$ 769.45	X	6	\$ 745.00 \$ 4,616,70
	1		ult-Synth			11/00

Guaranteed delivery within 5 days (business) of order.
Motor 8

22.	Automatic Transmission Fluid - Plus 4 / ATF + 4 3 3 2 0 2 3 C Per Quart:	\$ Z,79	X	36	\$ 100,44
	3 3 2 6 2 3 ₽ Per 5 Gallon Pail:	<u>\$ 47,85</u>	X	2	\$ 95,70
	Brand Name & Manufacturer offered:	ulf-Univ	e1S	al ATI	Ė
23.	Automatic Transmission Fluid – Mercon LV PV 75076 Per Quart:	\$ Z,66	X	36	\$ 95,76
	330030P Per 5 Gallon Pail:	\$ 48,35	X	2	\$ 96.70
	330030D Per 55 Gallon Drum:	\$ <u>482,35</u>	X	5	\$ Z,411.75
	이 그는 그들은 그 이 없는 그리는 국가 가장 그들은 그는 경기가 가장 가장 가장 하는 것이 되었다.	Peak Synthe and Noum-G			MV Dey互 ATI
24.	Transmission Fluid – Dexron VI Per Quart:	\$ 2,66	X	72	\$ 191,52
	330030₽ Per 5 Gallon Pail:	\$ 48.35	X	10	\$ 483,50
	330030D Per 55 Gallon Drum:	\$ 4 82,35	X	1	\$ <u>482,35</u>
		- Peuk Syn. s and Drums-		20 GB 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	MV DexII ATT
25.	Automatic Transmission Fluid Cam2 Full Synthetic for Gillig (Voith spec)				
23.		1100 7		2	\$ 907,50
20	∠ Z 98 D Per 55 Gallon Drum:	\$ <u>455,12</u>	X		Ψ

Item #	Description	Unit <u>Price</u>		Estimated Quantity	Estimated Total \$ 316.80	
26.	Automatic Transmission Fluid – Mobil 1 DELVAC 550033054 Per Quart:	\$ 8,80	X	36		
	550037968 Per 55 Gallon Drum:	\$ 1,514,70	X	5	\$ 7,573. ³⁵	
	Brand Name & Manufacturer offered: Sh	ell-Spirax	SE	ATFA	295	

Guaranteed delivery within 5 business days of order Motor & Hydraulics, etc. -20

Item #	Description	Unit Price		Estimated Quantity	Estimated Total
43.	Power Steering Fluid				
	International OEM Fleetrite CH990625				
	Ford ESWM12C128C & D				
	Volkswagon TL-VW-570-26 2932 Sold in 12/9/cs, Per Quart:	\$ 3,18	X	36	s <u>114,48</u>
	2932 Gullons not Per Gallon:	\$ 12.72	X	5	\$ 63.60

44	Synthetic Compressor Oil Mobile Rarus 827 (ISO VG 100) DSL 1007 Sold in Sgallow	k) 이번 (Bartina 19	\$ 10,07			\$ <u>362.52</u>
	Pails, Not. Available is Available is	Per Gallon:	\$ 40, 28	X	2	\$ 80.56
	Brand Name & Manufacturer	offered: S	unmit-e	DS.	L 100	

Item #	<u>Description</u>	Unit <u>Price</u>		Estimated Quantity	Estimated <u>Total</u>
45.	Windshield Washer Fluid Must be -40 degree 950B Per Gallon Bulk: 950DR Per 55 Gallon Drum:	\$ 1.19 \$ 92.95	X X	500 7	\$ 595,00 \$ 650.65
	Brand Name & Manufacturer offered: Tu	xton-Preu	ıu	ig-20W	asher Fluid
46.	Penetrating Oil – P-B Blaster, Per Spray Can: BLASTER Sold in 12/102/cs BLASTER Not available Per Gallon:		x x	36	\$ 130.32 \$ 84.24
	다른 마음이 하는 사람들은 전혀 하는 하는 것이라고 있는 그러지 않는 그리다는 사람이 가능적으로 하는 사람이 되었다. 그는 사람이 다른 사람이 되었다.	Bluster - P.	en e	trating C	Catalyst

WEIGHTED ESTIMATED GRAND TOTAL PRICE: (For Items 1 to 46 Only) \$ 125,926.94

One hundredand twenty-five thousand nine hundred twenty six y //00 (WEIGHTED ESTIMATED GRAND TOTAL PRICE IN WORDS) (For Items 1 to 46 Only)

- 17											
- 1			Control of the Control				The state of the state of the state of the				# 1 1 1 2 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1
: I		the second of the second	ing the Park State (All Park	the control of the control of the				4.1			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
- 1						and the second of the second	and the state of t				
- 1					and the second second	The state of the s	医医维氏管 医乳腺 医二氯化二苯			1//	
- 1	\sim			▲ 1	The second secon		T ~		h /	, O	1 756
- 1	4 h	Lomn	DIMOT No. 1	MOTOR		DWIGO	Lon Somm	I∧• '`'			ACT /SII
- 1	\ / / /	I Maille		Analysis	AND THE RESERVE AND ADMINISTRATION OF THE PARTY OF THE PA		Per Samp	III.	D 1/1/4//		est. 750
- 1		~~~~			and the second of the second		T OF SHILL		* 1/10V		7.7
- 1		-						6 7 P. D. C.	-		1
- 1		and the second of the second					化二氯化二氯酚 化二氯二烷 医水类				 If the second of the second of
- 1		the state of the state of	and the second second	the second of the second	And a second control of	and the second of the second o	and the second of the Edition of the second				The state of the s

NOTE: Bidder must bid on ALL items and all quantities to be considered a responsive bid.

Bidders must furnish two (2) sets of literature/specifications for all of the products proposed for the above. The literature/specifications must verify that the above specifications meet or exceed the products listed.

DOUBLE CHECK YOUR MATH!!!!

BIDDERS MUST SUBMIT ALL ORIGINAL PROPOSAL SHEETS AND EXACT, CLEAR DUPLICATES.